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KW 4 HEE S | B[ (A) | B [ (B) | ##Pk | B (A+B) | I
T 2,534 12 2,817 10 2, 880 17 5,697 27
T — T H 1,079 5 984 2 843 3 1,827 5
R — T H 618 1 575 -1 568 3 1,143 2
AP =T H 666 2 708 0 659 ) 1,367 )
JHPTETIU T H 494 -1 512 0 532 -1 1,044 -1
JHPTHT AT H 348 -1 366 0 332 0 698 0
JHPTHTS T H 311 2 374 3 387 0 761 3
FLoRHT 215 -1 204 -1 216 -1 420 )

Ba 381 -1 443 -1 452 —4 895 -5

T H 1,957 —4 2,012 7 2,079 2 4,091 -5
PIPTHT 349 0 340 -2 325 -3 665 -5

T H 956 1 1,021 2 984 1 2,005 3

T —TH 288 2 350 0 394 0 744 0
HHT T H 352 -1 427 -3 437 -3 864 -6
T =T H 497 1 658 -3 634 3 1, 292 0
FHTIU T H 301 -1 403 2 395 1 798 3
NEE it 234 1 261 1 251 0 512 1

W = 302 0 357 0 331 -1 688 -1

=YK 444 —4 448 -1 455 -3 903 4

=Y AHHE— T B 0 0 0 0 0 0 0 0
YA T H 32 0 43 1 43 0 86 1
LN 113 0 122 0 121 0 243 0

— Y K¥H 5 0 5 0 5 0 10 0
KH» B 693 -1 862 0 858 -1 1,720 -1

Rk 4 4, 625 0 4, 825 -7 5,076 2 9,901 -5

IS 4,914 -5 4, 605 1 4, 696 1 9, 301 2

TR A 1, 458 3 1,536 3 1,575 2 3,111 5
B+ 6 0 10 0 7 0 17 0
ELR—TH 946 —7 799 -1 944 -3 1,743 -4
ELR TH 1,152 6 1,079 5 1,177 5 2, 256 10
ELR=TH 876 -6 777 -1 858 -10 1,635 -11
B EAMNTH 733 -6 714 -5 726 —4 1, 440 -9
g+t HA ] H 727 -1 757 0 677 1 1,434 1
= LRANTH 0 0 0 0 0 0 0 0
T8 - T 1,992 0 1, 958 -2 1, 842 -5 3, 800 -7

Wy t—TH 302 ) 305 -1 311 -1 616 -2
oy m_TH 246 1 253 2 249 0 502 2
Iy =TH 441 2 431 -3 452 2 883 -1
¥ U T H 779 -5 685 —6 812 —4 1,497 -10
ey EH T H 462 -1 503 -1 515 -2 1,018 -3
FHIT— T H 253 0 294 -1 326 0 620 -1
FEHT T H 601 1 578 -9 641 4 1,219 2
BT =T H 191 0 181 0 233 0 414 0
it 33, 873 -8 34, 582 ~17 35, 298 -1 69, 880 -18




